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Projective Clustering Algorithm PCMF Based on Mean-Shift

HUANG Li-guo, WANG Shi-tong
(School of Information Engineering, Southern Yangtze University, Wuxi 214122)

Abstract The clusters of a high dimensional dataset are often hidden in the subspaces of the corresponding low dimensional datasets. In order to
successfully find the subspaces, Agrawal proposes the conception of projective clustering, converting the data into subspaces with mapping and
using another method to find clusters. EPCH is the latest projective clustering algorithm. This paper incorporates Mean-Shift into EPCH to divide a
high dimensional dataset into the corresponding subspaces. Experiments demonstrate that the approach is comparable to EPCH in the sense of
obtaining the reasonable clusters, however, it doesn’t require any parameter and can reduce the number of subspaces.
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